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ooooogon

googboooooboobooboobooobboobuo 1ogbbooobobon
gbobodbbogboooboo.bggbbooboobbuoobbooboo
gbbodbbogbooobuoobb.bboooboobbuoobbooboo
gogbobobooogb.gobobbbooobbbboooo.ooobbobooo
ggbooogg.

goobb 020000 z,y000 e=2x4+w00000nbon eUOnOOO).
go0oDO0O 1000000 20000000 (ry,y)000000O0O0ooo.ogg
gogboobo20budgggobobbuogoboobog.bog,obobogd
gbbogbbuoooboo,bugbbugbobuoobbooboboooboo
ggbobogooboood.
gobou,bbogdbbogbbugb,bbobbodobbuoobbuoobboo
ggoboobobogg.bobbodgoobbb @@oobobbouooogn),gd
gb@o200000),0boobg,bobboobooboobuoobon.

gooobod

000000000 -000000000000,w=f(:)000000.200
0000 f(:»)0 000,00000wO0DO0O0ODOODOODOOO.
r=2+iy0000, f(z)0 200000 2,y000000. f(:)0000000
00000000 u(x,y),v(z,y) D000,

w = f(z+1iy) = u(z,y) +iv(z,y)

goooo.
gbogbodg,gobooboobooboobooboo.ooboobon
gobobooobobobo20b0booooboboo..00bobooo 20
O,»O0000000wDOOO0OD0OO0.000000000000D00 D,ODODOO
ooooog pooog.
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ot 000000 z,yO0OO00O0O 0000 2=+ U00000dd. z,y0
0000 20O OO (real part), O O (imaginary part) J O O,z = Re(z),y = Im(z) O
0.

() O00oooooo.

@)200000 nr=x1+ 1y, 20 =20+ 1y, O O,0,00
stz = (v £x) iy Typ), 21z = (1122 — Yiy2) +i(T1Y2 + T241),
O00000.0000 /000,000 z1,51,7,y,000000.

Q) 000 »=2z+y000000000000 z—wyD 000000 (complex
conjugate) O U, z000O. 0000000000 OOOOOODOOO.

(z1-22) =717, z/n=7/7 (2#0).

4) 000 z=2+w 0000 2|0 Va2+y?000000.0000000 2
Uobol »,x000,00000000000000.

|21+ 20| < |z1|+ |22 (OOOODO)

G) UuUdnddonboD ~,2, -z 000, 00000000000D000.

|21+ 20+ -+ zn| < 2|+ |22+ 4 2] (8.1)
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U0l z=z+wy(,y000)000000,000000000 0000 (complex
plane) U0 DO 100000000 0O.0000O

z=r(cosf +isinh) = re?, (8.2)

goboob.obbgdgoo bbb oob.oubbuooooobbuooooo
O00.000 r=|z|=+v2?2+¢%600 2000 (argument) 00 00,0 =argz O
good.

(Hh z00000000D000000O,argz0000000000.

@ 0oooboboooooo
i, =i, 1—d, 1+V3i
@G ooboboooobgd
(cos @ +isinf)" = cosnb + isinnb, (8.3)
gogooooooboo.

4 #=10000000,0000000000000.

) 0boobdnnUdb0O "=100000000000OD0O0ODOO0ODOODO
gogoo.
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,t000000.00000000 e

o X (at)” o at | (at)?
D D e TR

n=0

0000000000000.0000=1000.000 e 00000000
gogoood,

goooo.
bbb oUdbbODbOOOoobboboOooag.

(H DoOOooDoO
e = cosf + isinf (8.4)

ODOo0obDOo0obOob0. oo 0D 0O0DO@DOO: cosh,sing OO0
gbooobgooog).

2000200000 z,22000,eme2=e2t»00000000@E00:
e 00000000000000000000N).

84 LUUUOUOUUOOOO

gooobood @4, 000ooobooog @3booboobooboobon
gogoo.

(1) cos(#; + 6;) = cos By cos By F sin 0 sin Oy
(2) sin(f; £ 63) = cos by sin b, + sin Oy cos b,
(3) cos26 = cos? 6 — sin® 6

(4) sin260 = 2sinf cosf

20160 110290 (DO0ODO)



